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- Simplify: 2a(5b-3) +2(3a +4ab) s

Za(5h - 3) + J(3a+ 4dab)
iabb-203 + H3a+hdab
10sb - 6a + Ba * 8ab
f0ab - Sa 4 bz «Bab
10ab + 8ab . e
| 18ab gy i
Removing brackets and simplifving

2) Simplify: 2m(6 -y)+ 3(m +4y)
b) Sunplify 3(k - 4)+ 2(8k +6)

¢) Simplify 4(3b+2) +2(9-b)

d) Simplify 8(n - 4)- 5(6n +4)

¢) Simplfy 7(8a-10 )+ 3(6+a)

f) Simplify: 2m(6 -y) + 3(m +4y)

g) Simplify 3(k - 4)+ 2(8k 4 6)

h) Simplify 4(3b42)+2(%-b)

i) Siplify: 2m(6 -3m) + 3(m +4y)
j) Simplify 3k - 4)+2(8k+6) -

k) Simplify 4(3b+2)+ 2(9-b)

1) Stmplify: 2m(6 -y) + 3(m +4y)

m)Simplify 3(k - 4)+ 2(8k + 6)

n) Simplfy 4(3b+ 2)+ 2(9-b)

0) Simplify: 2m(6 -y) + 3(m +4y)

p) Simplify 3(k - 4)+2(8k +6)

q) Smplify 4(3b+2) +2(9-b)

1) Simplify 3(k - 4)+2(3k + 6)

§) Simplify 4(3b+ 2)+2(9-b)

) Simplify: 2m(6 -y) + 3(m +y)
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